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04 JIAHIERSE S 5,522 8,750 13,228
ONBAALHER QI2AH|(&st) 5,522 8,750 13,228
-Jl=a 3,452 6,680 £3,228
405 XtorF S| 112,036 112,300 264
< 6,800 6.800 0
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01 KAt S Z 3 S| 5,236 5,500 264
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SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
Al 32,783 62,735 A 29,952
101 1Al 64,505 129,379 NB4,874
= 24,401 51,264 A 26,863
& 7,321 15,380 A 8,059
Al 32,783 62,735 A 29,952
03 RIAHAZ 2B+ 64,505 129,379 AB4,874
OO0kt HE2F | 64,505 129,379 AB4,874
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= 24,401 51,264 A 26,863
=) 7,321 15,380 A 8,059
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01 Ar22t2l bl 65,566 68,590 A 3,024
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